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Stupnovani pridavnych jmen

1) koncovkami - u iednoslabicnvch
(nekterych dvojslabiCnych zakonCenych na -y,-ow,-er, -el.-le)

2. stupen (comperative) pomoci : ER

3. stupen (superlative) pomoci: EST

Pred superlativy zpravidla pouzivame urcity ¢len THE

EX.

fast - faster - the fastest

large - larger - the largest

big - bigger - the biggest  zovojen
happy - happier - the happiest v—®



2) pomoci slov MORE a MOST y viceslabi¢nych

EX.

difficult - more difficult - the most difficult
Interesting - more interesting - the most interesting
expensive - more expensive - the most expensive

3) nepravidelné tvoreni

EX.

good - better - the best
bad - worse - the worst
little - less - the least



Choose correct answer

1. What is the highest mountain in Orlicke hory?
a) Snezka

b) Kralicky Sneznik USE:
c) Velka Destna O

2. What is the fastest animal?

a) a monkey
b) a cheetah
c) an ostrich

3. What is the biggest fish?

a) a whale
b) a dolphin
C) a carp



4. What is the most expensive metal ?
a) iron

b) copper
Cc) gold

5. Which is the shortest month?

a) February
b) December
c) September

6. Where is the coldest weather?
a) in ltaly

b) in the Arctic

c) in Greece



7. What is the largest country in the world?

a) Russia
b) China
c) Brasil

8. What is the hottest continent?

a) North America
b) Europe
c) Africa



Make sentences as in an example:
An ostrich is faster than a snalil.

an ostrich

brown boots grey shoe \

e o oy a snail
J
=2 SN - -
old < fas
the square

cJar!

the weather on Monday

i '-'1'11 fés-:‘-‘ l
warm



Make sentences as in an example:

A snalil i1s slower than an ostrich.
an o trich

the weather on Monday
the weather on Tuesday

= S &
4

W cold B
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Match the pictures with the adjectives

the dirties  the strongest  the fattest
the youngest the happiest  the eldest
the richest  the slimmest




Pouzité zdroje:

http://www.logofun.cz/data/preview/new/1/91887 .jpg



